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1 Перевод текста
Transport communication in Russia has more than 160,000 km of turnpikes, railways and small service roads.
The hard surface of the roads is 750,000 km.
The shipping lines of Russia exceed 1,000,000 km, and the internal routes comprise 100,000 km.
Air traffic in Russia totals 1,000,000 km of lines.
The above transport routes carry freight up to 5,000,000 tons.
The budget of transport companies exceeds the value of a trillion – more than 300 trillion rubles.

The GDP share of transport companies in Russia is 10%.
About 4.5 million people work in this industry.
With a significant amount and scale of production, the transport sector requires significant input and updating.
The low quality of transport links leads to differences at the regional level with investments per person, and this is a difference in revenue and social standard of living.
 Due to the absence of the road, the development of 23 mineral deposits was suspended.
Cargo carriage is 3.7 times less behind in speed, fuel and maintenance costs 2.2 times more in comparison with foreign countries.
In a traffic accident, up to 8% of Russia’s GDP is lost.
                       
2 Выполнить задания
Задание 1:Употребите нужную форму глагола:
1. My friend _______________ traveling by air.
a) doesn’t like		b) don’t like		с) is not liking		d) are not liking
2. The dictionaries _____________ very useful.
a) is not			b) are				c) be				d)is
3. Tom ______________ a definition of science now.
a) gives			b) are taking		c)is giving 			d) give
4. When she ______________ home, I _________________ her..
a) was going   met		b)went….was meeting		c)were going…met	d)went…met
5. People ________________ to be 150 years old?
a) will living		b)live			c)will live			d) lived
6. Alaska _______________ by the USA from Russia in 1867.
a) are bought		b)bought			c) is bought		d) was bought
7. If she __________________ the lessons, she will pass her exams well.
a)don’t miss		b)doesn’t miss		c) didn’t miss		d) won’t miss
8. _____ I take your book?
a) can			b) may			с) would			d) must	

Задание 2 Употребите нужное местоимение:
Moscow is famous for ____historic sights.
a) her			b) your			c) its			d) his		
Задание 3:Употребите определенный или неопределенный артикль, где необходимо:
___ Russia is ___ largest country in ___ world.
a) -, the,-		b) -,-, the		c) -, the, the		d)a, the, the	

Задание 4 .Вставьте нужный предлог:
The sides _____ square are equal.
a) in			b) of			c) at				d)on			

Задание 5:Употребите нужную форму имени прилагательного:
The weather is (good) today than it was yesterday.
a) the best		b) gooder		c) more good		d) better		(

Задание 6:Выберите слово, которое НЕ относится к теме «Geometry»:
a) square		b) street		с) rectangle		d)triangle 
Задание 7:Закончите предложение, выбрав правильный вариант:
1. The Titanic was the biggest______________ in the world
a) plane			b) underground system			с) automobile		d)ship
2. Physics studies _____________.
a) natural forces		b) living things 	c) countries	d)animals	

Задание 8:Выберите соответствия между английскими словами и их русскими эквивалентами:
	1. century
	a) единица

	2. gadget
	b) вес

	3. unit
	c) устройство

	4.liquid
	d) кривая

	5. weight
	e) жидкость

	6. disaster
	f) столетие

	7 knowledge
	g) катастрофа

	8. curve
	h) знания



Задание 9:Определите верны ли следующие предложения. Обозначьте T(true) номер предложения, если утверждение верно и F(false) номер предложения, если неверно:
1. Squares have three sides.
2. The Earth is getting warmer because of greenhouse effect.
3. Mathematics studies natural forces
.			.				
Задание10: Выберите правильное местоимение и форму глагола, чтобы заполнить пропуски, переведите предложение на русский язык: 
They wanted ________ ______  with them.
a) I   to go			b)me   to go		c)my   go		d)I   go	(3 points)
Задание 11: Переведите предложение на русский язык
He is expected to arrive in two hours. 

